0-5)=Eo RS 30=1-3=27) | Wansal Postion Markers or oty Sensos—~—~— OVOtechnik

Siedle Gruppe
Z-RFC-P01/P02/ P07/ P08/ P41/ P47 ©28 Z-RFC-P30/ P31 Z-RFC-P03
3
© 18 5.6 ==
< -&8 © S 5
. — ) -
T 2NN < =
TRd el woflle -
I )
4R '\"; 410 ’\*H f\'JI.I.I\"J ! Z-RFC-P04
I
Q4.1 \< = 5.5 14
¢ 6.0.02 I o i:mig—?—a $.3.25 (20
HES v g Z-RFC - o nls i
recommended shaft-& PO7/P08: 4> R—ILFIE g i
M5 Installation instructions PR :
for Z-RFC-P01/-P02 Mdx 20 2RI 2K 2 h—ILF )
R v I bty NFYvS (C & BB EDED 31 AR h—{b*lll_ﬁ . Installation instructions
Recommended shaft setup B L7 300Nem fnstalla!:on“msrrucﬂons R (R L REMNFIRNT S IZE0N,
0.02 8 MRS M3x 8 FZ2K JERAE M B T DB REIBE R (Weicon
?6- g =~ C& B o :
. i . S SSTLTOURED (;a:zﬁ EIDED S AN 306-30 72 &) [CKBIHBEEHRLET .
S | 3 RS LY 120Nem BAHH )LD 200Nem (RNLADISEABEERE < R BTSN ES)
N N Er_ : Axial mounting with S ol vy Avoid mechanical load. Glue in place
DZOE/'C 2 screws M4 x 20, max. 2 Sk MOTE s with anaerobic glue e.g. Weicon
EES 312D / tightening torque 300 Nem lightening torque 200 Nerm AN 306-30, in non-magnetizable
g Radial mounting with material (recommended, otherwise the
1t;_Jrc'l‘S_s hol;hfor threaded pin M5, max. working distances will be reduced).
xaton W, tightening torque 120 Ncm o B ORLEE—E TS
locking pin S ARSI >$§—7J—o>@$£$m
" Rotation axis of magnet aligned
N . L with sensor center axis
=,
ATV IARTS 3> ATV IARIS 3> ! % _7_(“ AIFTYIIRIZ 3>
Index position Index position Index position
Z-RFC-P23/ P43 1A R—ILFIR . Z-RFC-P22 A ZN—LFIE .
PN XU Tt Installation instructions I\;T;(taz.'lgﬂ:l: ;{r;t;kucﬂons
Shaft setup il SABES I & BB BEOBD AL
RURAHEATE - I PIDHLD
M4 == ERARHET ML 300Nem
ISR TEES BT, €A = . ; ;
FSTLARETECTS I . o BN BLZ 100 Nem . SoplsossE
CEEBEHULFET I L o (5 D#ICHHDEL T e e
F ‘ KARKARIEH) > ightening torque cm
A flattening is recommended | 8.0.02 ; . . 43Ty AR TS
at screw pressing point for ﬂ‘ M Radial mounting with ' et

threaded pin M4, max. " Index position

fixation with threaded pin tightening torque 100

—— |.._ Ncm (retightening after

[ S

161D

- 5 min. for permanent
maximum holding force) —— ¢8
| |
4 P e P N <|
. M S t (] ) 1 ! . 1
- {oHe— T
L — ‘T ‘.\. - ) : / - ! .

L . |-— - ¢ 4.5
A2TYVIARSZ 3> 7
Index position #5-3-4
Marking
- Z-RFC-P16 Z-RFC-P18
#HIZE%BA [ Installation — —
instructions o HORLEE—T D =~ 0.5mm DbgARE g 0-2mm DRSS
T et P R O | ] =N [ g
Rotation axis of magnet aligned f o! ;f/ + ‘\“'K — i ol 7 . \
with sensor center axis — - =] -1- NI —— - =] B | i, 2
R\ Es-v-0 | -
BERSEHELREET v M H—= N = HY 2 N/t
KBEE, RZ>3>7—H—H R 6.4 25+1 i 7 25+1 :
"~ t5-3-1 SW16
EEELRVKSCEETZ &% Marking (L4 (32)

BBBOLET. 2 FVIRARTS T Z-RFC-P17 Z-RFC-P19

gﬁﬂ); ;C;::"EG' or secured by Index position _~ 0.5mm OISR _~ 0.2mm ORISR

It is absolutely recommended to BAHMET NLD [ max. tighting torque i - //’“\\ ! o

secure the position marker Z-RFC-P16  Z-RFC-P18 ﬁ é’] (K. HE—2 ;

against rotation. Z-RFC-P17  Z-RFC-P19 530 2541 e /]_ 2 1 5 SR
Z-RFC-P20 303) swia 28 = swiz|

12 ... 16 Nm 6 Nm

Z-RFC-P20

2 A MS-3-0
7 2541 marking

(32)




0-5)-t4R

NN

I3 N=1==27)) | ManalPostion Markers for Rotary Sensors

Siedle Gruppe

novotechnik

EhfERBRE (mm)
Working distances (in mm) : disfance between position marker and sensor housing

RS2 32 R—H—O0-FU—t> YDk

2U—-=x (>5F—J1—2X Z-RFC-__
senes interface PO1POT (P30 P03 PO4 P23 P31 P20 PO2/P0B |P41/P47 |P43 P22 P16/P18 |P17/P19
-
F = 3
® o @ @ v 88 |8 | ¢
RFC-4801/4802/ naloq sinl
485304864 = o————- Zplﬂ‘-‘s'"ge 0..15 0..4 0..27 - 0..45 |0...22
4BR1M4BE2 - - -
RFC-4801/4802/
4B53/4854/ ;—— -——"——- analogred. 5 45 0.4 D..23 8 n..4 Jo..17
4861/4862 O--"-——" -~ analogred.
2 a4 ss|
RFC-4801/4802 ™—-"7-—"——- - 0..14 - - -
2__-5_ _-___ Ihcremental
6 _-___-__ _ analogsingle
2 _-61_ CAN single
RFC-4851/4852 BT ARk 07 .22 Z3..5 0..27 44 .92 |o..45 |o.. 22
2__-A_ _-_ __ O-linksinge
-1 _-___-___ analogred.
8 __-___-___ anaogred.
RFC-4851/4852 o 7l 03..18 19..45 0..23 4.88 |lo..4 Jo..17
2 _-66 - CANred.
RFC-4863/4864 6__- - analogsingle [0.7..22 23..5 0..27 - 0.4 [0..22
RFC-4863/4864 - ———"——-— analogred. |o, g 19..45 0...23 X 0..35 lo...17
8 _-___-___ anaogred.
RFD-4021/4031 6__-___-__ _ analogsingle |- 12..271..3 |28..82 - 09..34/61.108 0.5 |o...28
RFD-4021/4031 ~'—-"———"——— @nalogred | 07.. 2306 2628 .62 : 05._28l56. 104 o 45 |0 23
8__-___-___ analogred.
H__-___-___ analogsingle
-7__-___-___ analogred.
8 - - aznalogred. | 0,3..35 - 26..73 |n...25
REX-6901 2__-62_-___ CAMred
2 _-66_-___ CANred.
2__-61_-___ CANszingle . il
i e T 0.8...4 29. .77 |o..3
6__-___-___ analogsingle
RFE-3201 2 _-61_-___ CANsingle [ 04..18 = 4T 0..24 M41.89|0..4 |o..18
2 _-65 -___ CANsingle
sT__=-___-=___ analogred.
8 _-___-___ analogred.
RFE-3201 gt A E 0...15 16...42 0..2 [36..84[0..35 |0...13
2 _-86_-___ CANred.
T ERSS I OI—H—DESBEDRINCELD, UZFUTABEIECET,
UIeh' > T ADAIROEBEHEICIDCENEETT,
Lateral offset of sensor and position marker causes an additional linearity error.
A concentric mounting has to be ensured.
WINEEDBMU =7 UF 1 IT5—[°]
Additional error [°] at radial displacement
Z-RFC-P02/ P04/ Z-RFC-P41/ P43/ Z-RFC-P01/P03/ Z-RFC-P16 /P18 Z-RFC-P17 /P19 Z-RFC-P22
. P08 / P20/ P23/ P31 |P47 P07/ P30
S)-X A2H=T1—XR
Series _Inlerface 0.5mm|1mm [Zmm JO5mm|1mm [2mm JO5Smm|1imm |2mm J0.5mm|1mm [2mm J0.5mm|1mm |2mm |1mm [Z2mm |4 mm
RFA-40__ |-6__-___-___* analogsingle*
RFC48__|-2__-8__-___ sPl
RFD40__r-2 _-61_-___  CANsinge Jo4 [11 |35 o4 |11 [35 |4 [37 |- 07 [13 |33 |13 |26 | 08 [1.8 |54
RFE-32__ |-2__-65_-___  CANsingle
RFX-69__ J-2 _-A__-___ lO-Linksingle
RFA-40__ . .
e |
RFD-40 B e ke g 18d- 25 |64 |- 23 |45 11 |24 |67
—— 2 -g2:- CAN red.
RFE-32__ |- —
RFx69 | 2%--66_-___  CANred o7 |18 |52 [o7 |18 |52 11 |2 4,6
16 - - analogsingle i
RFX-69__ F-7__-___-___  analog red. G £ 2 11 |24 |67
J —8__ SR analogred. - -
2 -4 - ss|
BEGA0E }—2_ -5 _-___ Incremental 04 07 22 |- ) Il 3 Il j Il i i ] i Il
RFX % P& < I except RFX
®E— - 7> R - 7S (& novotechnik #DIERAARIEETT, '%*fgfﬂg?ﬁ* WE— - 7> R -T52
+ -

Page 2

G EBLEMENNIE[EE 2452-5 /  E-mail : Novotechnik]JP@b-plus-kk.jp

T618601Bj

2021.02.22




